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Algebra 1 Review - Old 2.4 Review Sheet

1. Given the equation y = ——%x +2, identify the

slope and y-intercept. Then, graph the line
{please label the scale).

2. Find the x and y intercept for the equation
3x—6y=12. Then, graph the line (please label

the scale).
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3. Find the slope of the following lines: 4. Determine whether the lines are parallel,
A\ ) N: perpendicular, or neither. SHOW WORK:
\ 4 Line 1: through (4,-3) and (-8,1)
\\ Line 2: through (11, 8) and (20, 5)
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LineB:__unde § Neither

Line C:
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5. In 1985, the birth rate at Burke Hospital was
1310 births. In 2002, the birth rate at the same
hospital was 1670. Find the average rate of
change of the birth rate at Burke Hospital.

Round to the nearest tenth. Include units in your
answer.
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8. Write an equation of the line that passes
through the point (=2, 7) and is paralle! to the line
y=3.

7. Write an equation of a line that passes
through the points (0, -3) and (4, 7) in point-slope
form.
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8. Given the graph, write an equation of the line in
any form: -
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9. List 5 points on the graph x—4 + y = 6.

++F iy are solutions to what line? ~—
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10. The points (-3, -3.5), (-2, -3), (-1, -2.5), (0, -2)

11.

.

(9, —k), (3k, 1), m=-1
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